EMP IV Type 01400 — 02100 EchAB@)

Spare parts

Spare Parts: only for version E 00

@l

M

I
' llﬂ’.itlli’:"-%ﬁ’l
[/

|

I U WA \ N\ \ v\ \\\
24 2526 272829 30 313233 34 3536

13 14 15 16

Item | Article Material-No.
1 Suction/pressure valve SDV PP FP KE 000 G1%4 -G1V4 - 99* 249075
Suction/pressure valve SDV PP EP KE 000 G1%4 - G1%4 - 99* 249055
Suction/pressure valve SDV PV FP KE 000 G174 - G1V4 - 99* 249074
Suction/pressure valve SDV PV EP KE 000 G1%4 - G1V4 - 99* 249041

2 Hexagon socket screw M8 x 100 VA 413031066
Proofing plate 34950144

4 Pump head PP 34950135
Pump head PVDF 34950137

5 Conveying diaphragm 34950101
6 Intermediate ring PP 34950150
Intermediate ring PVDF 34950194

7 Protective diaphragm 34950163
8 Supporting disc 34950177
9 Hexagon socket screw M8 x 20 VA 413031055
10 Receiver disc for protective diaphragm 34950152
11 Intermediate plate 34950147
12 Flange plate 34950124

* Please see page 21 for code declaration

03/2025 EMP_4-210_e.docx 19



EMP IV Type 01400 — 02100
Spare parts

ECOLAB

Item Article Material-No.
13 O-ring 9 x 2 NBR 417002063
14 Locking nut 415204603
15 Oval head screw M5 x 16 VA 413119274
16 Mounting plate 34950123
17 O-ring 15 x 2.5 NBR 417002137
18 Vent screw 415204601

only for versions E 00
19 Oval head screw M4 x 16 VA 413119230
20 Front panel for version EQQ 34950161

only for version E 60
24 EJOT-PT - Screw KB 30 x 8 413071033
25 Connector mounting 34950125
26 Connector, two-pole, RM 5.08 418461544
27 Switch connecting cable 249690
28 Toggle switch 418244171

Slip-on lever sleeve for toggle switch 418244180
29 Connecting cover 34950119
30 Sealing cord & 2 mm in connecting cover (0.37 m) 417401005

(available by the meter)
31 Oval head bolt M4 x 30 413119236
32 Connection label E60 34950131
33 Dummy plug M16 x 1.5 418441042
34 Flange connector, 3-pole M12 34950209
35 Dummy connector, "Empty" signal input 248186
36 Threaded cable union M16 x 1.5 418441010
37 See-through cover 34950120
38 Dummy plug M12 x 1.5 418441041
39 Protective cap for toggle switch 418244179
40 Threaded cable union M12 x 1.5 418441009

03/2025 EMP_4-210_e.docx 20



EMP IV Type 01400 — 02100
Spare parts

ECOLAB

Valve code

|SDV | PP |FP |KE | 000 | G1% | G1% |99 |

. Valve designation

SDV = suction/pressure valve

. Housing material

PP = PP
PV = PVDF
. Sealing material
FP = FPM
EP = EPDM

. Valve ball material

KE = ceramics

. Valve spring pressure

000 = without spring

. Thread screw-in side

Gla= G1%°

. Thread connecting side

Gla= G1%°

. Connection

99 = without connection

Connection material see page 17

03/2025

EMP_4-210_e.docx 21



EMP IV Type 01400 — 02100
Wearing parts

ECOLAB

Set of wearing parts (complete)
consisting of 1 piece each:

e Suction valve with hose connection material
e Pressure valve with hose connection material
o Diaphragms

e Protective diaphragm

Article

Wearing part set

Code

Material-No.

EMP 1V 01400/02100 PP FP KE 250160
EMP IV 01400/02100 PP EP KE 250161

EMP IV 01400/02100 PV FP KE 250162
EMP IV 01400/02100 PV EP KE 250163

Wearing part set EMP IV |01400/02100 | PP | FP |KE |

03/2025 EMP_4-210_e.docx

. Pump type (pump capacity)

01400/02100 = 140/2101/h

. Valve material

PP = PP
PV = PVDF

. Sealing material
FP = FPM
EP = EPDM

. Valve ball material

KE = ceramics

22



	 Single phase motor with winding protection, standard
	 PP plastic material for pump head and valves, standard
	 Plastic external housing, metal internal housing
	 High delivery capacity at low number of strokes
	 Electronics with display and mode switch for simple pre-selection of menu
	 Safety diaphragm as a standard feature, signalling of fractures in diaphragm as a standard feature of electronic version
	 Evaluation unit for signalling of fractures in diaphragm, standard feature of electronic version
	 Selectable error signal relay, standard feature of electronic version
	 Mechanical stroke adjustment
	 Empty signal report and level pre- warning
	 Empty signal and stroke signal output
	 Pulse control
	 Pulse multiplication and division
	 Pulse storage
	 Stroke frequency regulation
	 Standard signal drive
	 External metering stop
	 Single stroke control
	 Metering regulator (readjustment of metering output) in combination with an oval gear meter
	Mechanical Data:
	Materials:
	Electrical Data:

	Dimensions:
	Pump code – part 1
	Other versions on request!
	Pump code – part 2
	Example of a complete pump code of a standard pump:

	Electrical versions
	Ordering data – standard pumps:
	Accessories:
	Spare Parts:
	Article

